Old MA205 Question
Your fourth class cadet is preparing for his upcoming plebe fitness test.  As a good team leader, you are helping him with his physical training by taking him out for a run to the Stony Lonesome gate.   As he huffs and puffs up the hill, you are considering how you can maximize his workout by running the steepest slopes.  The shape of the hill is defined by the equation 
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.   You are currently at the point 
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 running in the direction of the vector 
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a. Find the rate of change in elevation of the hill at your current position and in your current direction of travel.  Are you running, climbing, or just holding on for dear life?
b. Are you moving in the direction of the steepest slope possible at this point?  Justify your answer.
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